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(A) Sp =3.5N(+)
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(D) S¢p =4.5N(-)
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A% P, =2000 kgf ~ P, =3000 kgf - P,=3000kgf

P, =1000 kef 2 {EF » A O » 3ok P=2000kef | P,=1000kgf
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(A) 9760 kgf-m 5_&_\» B
(B) 10820 kgf-m < 12m |
(C) 12694.5 kgf-m
(D) 13531.3 kgf-m
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(A) P=162.5N
(B) P=1862N ) B
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(A) Ry, =434N(«) * Ry, =1000 N(T)

(B) Ry, =581.8N(«) * Ry, =1200 N(T)
(C) Ry, =7142N(«) * Ry, =1500 N(T)
(D) Ry, =1116N(«) » Ry, =1800 N(T)
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(A) o,=20kgf/cm’ o, =-30 kgf/cm S0kgfem’ SOkgflem’
(B) o, =20kgf/cm”* 5, = —50 kgf/cm’
(C) o, =50kgf/cm®* o, =70 kgf/cm® (=) —F— )
40kgf/cm

(D) o, =70kgf/cm’® o, =30 kgf/cm’
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(A) 14.5°
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(B) 30° B C 120N

(C) 60°

(D) 75.5°

19. A& (+-E) A g mi SR 2 VIR 360 N » il ZAER 2 I T
HIT JERZ D2
(A) 40N
(B) 30N
(C) 45N
(D) 90N &l (1)
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(A) 10.6 cm -

(B) 11.2cm 4 b i
(C) 11.6 cm ;:‘ ) h
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(A) KK
(B) &lil&
(©) PELL
(D) KIELL
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(C) EE (D) )t
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(A) ZtoKie
(B) Fom/Kie
(C) =iEKie
(D) TisEsKie
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© (D)

27. H—Z2MAE 1.5 kg » HAFER 10 &H » FHEEMEA 2= Ehfs ik > PRSZMIEME 18.5kg »
HEMELER 2.65 0 HIGM 2 22BN ?
(A) 38.2%
(B) 35.8%
(C) 66.0%
(D) 12.3%
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(A) BLFr &K R AR
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29. IEH MBI AT E RS T YRR 2
(A) SO,
(B) CcCl,
(C) NaOH
(D) H,0
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(A) 200.000 kgf/cm’
(B) 358.491 kgf/cm’
(C) 400.000 kgf/cm’
(D) 716.981 kgf/cm?

31. K95 CNS382 FHERARE » ISR ~Iarn 2 m% b ?
(A) £1.2mm

(B) £2.7 mm
(C) £6 mm
(D) £4mm

32. HRE A8 KRS ThgERCE - T E BRI 2
(A) fLhds
B) %5
©) LA
(D) HE

33 ARME I iRk - W AT S S EE L Y S e A B 2
(A) H,S0,
(B) HCI
(C) CHNO
(D) H,0,
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(A) KMzl » ZRREZIRIEAS G A 2R IR b Bl 245 TR R
(B) AW A WkE BRI AR 43 Fam s A1 & kAR
(C) AR HEMELOM A B
(D) A# 1 AHKIFS 0.00278 2T AR

35. HEA @M - T IR # EEER ?
(A) &~ 8~ 3~ IRFRE - RIVEERRS
(B) $ER$H .2 & S i
(C) 1ATRIS ST R (LB L 9 3¢
(D) BRIREHAEEE R LIS Fs bt » BEBENE Y0 A R i

36. HEAE TR > NYIRCLA & IEHE ?
(A) PVC & FIACE 2 2 T2 it Esg i {5
(B) # HYEIB L S e RIS PE
(C) A KINFHYEIEZHE PE ~ PVC ~ PS ~ SI J PP
(D) MMz (Polymide)F= B A& S H ik A FH
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37. NAIAHHZRHEYTAT K IE K L BVE R AR OK 2
(A) C,SKC,A
(B) C;S Kk C,A
(C) C,A K C,AF
(D) C,AF & C,S
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(A) 2,070 7T
(B) 1,890 JT
(C) 1,780 JT
(D) 1,950 JT
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(A) FAR
(B) i
(C) il
(D) TR
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(A) #hlEE
(B) i
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